As in  

http://www.electroportal.net/phpBB2/viewtopic.php?f=7&p=82212 
To solve the trigonometric equation
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I have used the t parameter 
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 to write 
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And so the equation can be written in wxMaxima as in the  following figure

[image: image4.png]0 e 0.81 [ non satato’ |
Flo Modfa Marina Equaini Aosbra Cokclo Senplfca Diegro Nunero Ao

BHOSX DX E® O DO~ @
(3i1)  (2%A*t)/ (1+£72) + (2%B* (1-t72) )/ (14£°2) -A=0;

20-288

(101)

I

(2i4) solve(tol,t);
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And then, from t solutions ( %o 4),  we can find  
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But, so I’ve used Maxima only for the polinomial solution  (
BTW  so, as we see from the web link, MathCad is powerful than wxMaxima ?
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